0

FE-%

104

=

2
B ok M OB B T OE (% )
B W b o B M "
EES
M B # %
EaR B L



F ¥ £ £ I ¢ B E ( BEEZLE )

ERE 150 EE E5E 165 mm
E3 A A o ) T B #O% o ‘IRE BIER oy i) HHI+ 8 ERER BHR+ & % *
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ERZa] 2 1.54
X
CBED) 3 1.54 1.54 [0.165 [0.100 1.81 0.030 0.250 0.280 0.365 1.00 1.65 BHO.28m3 | 2.94 0.10 | 0.05 1.60 0.344 1.165 0.55 1.92 2.94 BESE
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X
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27.44
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T K E K J=6G-1 w b3 4 M=J x K
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B NO. m m m m m m m m m m m
2 1.54
HEAH 3 1.54 1. 81 1. 65 1.00 1. 65
2 1.51
HEAH 3 1.54 1.80 6.50 1.00 6.50
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8. # W # E B ¥ (D) 33.79 md + 33 m¥/E = 1.0 H 1.0 A
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BFAHMK |ausmza] £ 1.60 1.46 | 1.00 | 1.70 | 2.60 | 1.50 1.00 2.48 0.52 2.28 2.48 0.36 H=2. 00 1.50
& i 2.48 0.52 2.28 2.48 0.36 H=2. 00 1.50
EEl L = (T ETIEEIR-ASE) x fEHITE x EHIER
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1. = T A & B % + 8 T & E 1.50 m TREIE= 1.46 m
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2,48 x 30.00 / 1.50
3. 3 0 m & U o # M + =2 # W & A 49.60 m?
0.52 x 30.00  / 1.50
b = E‘;E 10. 40 m®
4 3 0 m % Yy o # E + =2
2,28 x 30.00  / 1.50
oW OB R 45.60 me
HXWX L +(hx L ) x 1
5, 3 0mzx Y DEAERABEK (A) D 10 T
_1.46  x 1,00 X 30.00 30. 00 1 _
= 13 + (1.4 % 10 ) x 6.2 = 1.7 g
6. H i I (B) 10.40 m?3 + 33 m¥/H = 0.3 H 0.3 H
1. = % =] # (c) 30.00 m = 50 m/A = 0.6 H 0.6 ©
8. # W # E B ¥ (D) 45.60 m° + 3 m¥/A = 1.4 A8 1.4 8
30mL YEIEASK=A%3/5+ (B+0.5) + (C+0.5) x3/5+D
£ B # 30mHY) 1.7 x3/5+ 0.3 +0.5+( 0.6 +0.5) x3/5+ 1.4 = 39 H
HAA% B0mHY) 39 x 1.3 = 507 = 6 A
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KEEBAH 0mBY) 003 + 06 = 09 A
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B OW I t= 3cm 5. 65 + 566 m2| B ¥ I t= 3cm 11.23 11.23 m2
5.65 m?2 11.23 m2
2 A I t= 3cm 0.17 + 017 m3| A5 T t= 3cm 0.34 0.34 m3
0.17 m3 0.34 m3
# Hl T t=10cm 0.32 0.32 m3
0.32 m3
Lz R I t=10cm 0.32 0.32 m3
0.32 m3
2, R 1B T 4, BET (KHE B
B L t= 15cm 5.65 5.6 m2| t BT t=10cm 3.20 3.20 m2
5.66 m2 3.20 m2
rTEBRET t= 10cm 5.65 5,66 m2| % B I t= 3cm 16. 88 16.88 m?2
5.66 m2 16.88 m?2
=®= B I t= 3cm T B B % & A U
B OB I t= 3cm T B B # & A LU
AsusnIT t= 3cm 0.17 0.17 _m3
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B OW I t= 5cm 10.10 + 0.50 10.60 m2| ® #¥ I t= 5cm 34.70 34.70 m?2
H 10.60 m?2 34.70 m?2
Ao0nIT t= 5cm 0. 51 + 0.03 0.54 m3|HA s T t= 5cm 1.73 1.73 m3
B 0.54 m3 1.73 m3
# Hl T t=10cm 2.66 2.66 m3
2.66 m3
Lz R I t=10cm 2.66 2.66 _m3
2.66 m3
2, R 1B T 4, BET (KHE B
rtERE®ET t=27cm 10. 10 + 0.50 10.60 m2| EE & T t=25cm 10. 60 10. 60 m?2
H 10.60 m?2 10.60 m2
=®= B I t= 3cm £ B B # & A LU = B I t= 5cm 44. 80 44.80 m?2
BB I t= 3cm £ B B # & A LU 44.80 m?2
As0nIT t= 3cm 0.31 + 0.02 0.33 m3
B 0.33 m3
BELtaoasT t= 2cm 0.21 + 0.01 0.22 m3
i 0.22 m3




HEEIEHINEHESE

— 2858 1
iz ALEE _ EREY ik % 1B, &£ & &8
= | A T REINE | 2R | W | s urue =)o = o1 20| e sz |4 nns| HIEhR | SHEhRAREET A5 05 RIS
ES rxgm| TR g M | g (T SR SREEE BB\ SMIEE 5Ty e R man (RERN RS (REARN BER
t=3cm t=3cm t=10cm
B m m m m2 m m3 m2 m m m m?2 m?2 m3 m3 m° m°
2
HEAH 1.65 1.00 4.30 1.65 0.03 0.05 1.65 0.25 2.40 2.40 1.65 3.87 0.05 0.12 0.12
(HED) 3
2
BHESH 4.00 1.00 8.00 4.00 0.03 0.12 4.00 0.25 3.50 4.00 7. 36 0.12 0.22 0.20
($3ED) 3
& F 5.65 12.30 5.65 0.17 5.65 2.40 5.65 11.23 0.17 0.34 0.32
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t=3cm t=bcm t=2cm | t=25cm
B m m m m2 m m3 m2 m m m m?2 m?2 m3 m3 m° m°
2
R 6.50 1.00 13.00 6.50 0.05 0.33 6.50 0.50 3.50 6. 50 16. 25 0.20 0. 81 0.13 1.63
(EAD)
2
[RZ2 3.60 1.00 7.20 3.60 0.05 0.18 3.60 0.50 3.50 3.50 3.60 18. 45 0.11 0.92 0.08 1.03
(RAD) 3
& 10.10 20. 20 10.10 0. 51 10.10 3.50 10.10 34.70 0.31 1.73 0.21 2.66
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(L4) (w1) (1) (w2) (w3) (al) (a2) t=3cm | t=5cm | t=2cm
ER m m m m? m m° m? m m m m’ m’ m® m® m® m®
1 0.50 1.00 1.00 1.00 0.50 0.05 0.03 0.50 0.50 2.00 0.50 0.02 0.01
it 0.50 1.00 0.50 0.03 0.50 0.00 0.50 0.00 0.02 0.00 0.01 0.00
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